
Political concepts and theories

Worksheet 4 – Hierarchy and authority - Social and psychological 
reasons

Place a  in the correct column to note whether the reasons regarding rejection of 
equality are Social or Psychological.

Rejection of equality reasons Social 
reasons

Psychological 
reasons

Inequality is a feature of organic society.

Individuals need to know what is expected of 
them.

People need to know their station in life.

Paternalism.

Inequality of wealth and social position is 
vindicated by an equivalent inequality of social 
responsibility.

Authority rebuts rootlessness.

Everyone needs help, care and security.

Natural aristocracy.

Authority contests anomie.

Authority is ingrained in the nature of society.


